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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 398 49.92 | #nS | 000 ~ 398|213 10.78 st 1.00 | 6.00 ~ 5.30 49.92 | =h4 | 5.00 ~ 630| 2.13 10.78
2 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ b5.65 70.60 | NS | 000 ~ 565 1.84 9.28 st 1.00 | 6.00 ~ 6.40 70.60 | ThSY | 6,00 ~ 6.40 | 1.84 9.28
3 100kN/m##8%% | 1.00 000 ~ 096 114.35 |3m%EBZ% -~ - - -| 100kN/M%#8Z5 | 1.00 | 1057 ~ 1340 114.35 |3mEBZD -~
s 1.00 | 096 ~ 874 100.00 | #nst | 000 ~ 874 | 2.23 11.29 st 1.00 | 6.00 ~ 1057 100.00 | =nst | 6.00 ~ 1340| 2.23 11.29
4 100kN/mM##BZ5 | 1.00 | 000 ~ 120 11805 |3m%E#BZ 5 -~ - - -] 100kN/mZ#8z% | 1.00 | 1055 ~ 1440| 118056 |3mZE#BZ5 -~
s 1.00 | 1.20 ~ 898 100.00 | =4t | 0oo ~ 898|215 10.89 st 1.00 | 6.00 ~ 1055 100.00 | =hst | 6.00 ~ 1440| 2.15 10.89
5 100kN/m##8%% | 1.00 | 000 ~ 096 114.33 |3mEBZ% -~ - - -| 100kN/M%#8Z5 | 1.00 | 10.77 ~ 1360 114.33 |3m&EBZD -~
s 1.00 | 096 ~ 874 100.00 | #nst | 0.00 ~ 874 | 2.30 11.62 st 1.00 | 6.00 ~ 1077 100.00 | =hst | 6.00 ~ 1360 2.530 11.62
P 100kN/m##8%% | 1.00 000 ~ 096 114.44 |3m%EBZ% -~ - - -] 100kN/ %825 | 1.00 | 11.46 ~ 1450 | 114.44 |3m%E#BZ% -~
s 1.00 | 096 ~ 875 100.00 | #nst | 0.00 ~ 875 | 2.42 12.21 st 1.00 | 6.00 ~ 1146 100.00 | =hst | 6.00 ~ 1450| 2.42 12.21
- 100kN/m##8%% | 1.00 | 000 ~ 096 114.44 |3m%E{BZ% -~ - - -] 100kN/ %825 | 1.00 | 11.46 ~ 1450 | 114.44 |3m%E#BZ% -~
s 1.00 | 096 ~ 875 100.00 | #nlst | 0.00 ~ 875 | 2.42 12.21 st 1.00 | 6.00 ~ 1146 100.00 | =hst | .00 ~ 1450 2.42 12.21
P 100kN/mM#E#BZ5 | 1.00 | 000 ~ 0.74 111.03 |3m%Ei#BZ 5 -~ - - -] 100kN/ %825 | 1.00 | 11.45 ~ 1370 111.03 |3m%E#Bz% -~
s 1.00 | 0.74 ~ 852 100.00 | =St | 0.00 ~ 862 | 2.41 12.20 st 1.00 | 6.00 ~ 1145 100.00 | #nLsy | 6,00 ~ 1370 2.41 12.20
9 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 686 86.79 | =hLs | 000 ~ 686 2.09 10.54 st 1.00 | 6.00 ~ 1050 86.79 | =nS | 5,00 ~ 1050 2.09 10.54
10 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -] 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 686 86.79 | Th4 | 000 ~ 686|267 13.01 st 1.00 | 6.00 ~ 1050 86.79 | =hLS | 5,00 ~ 1050| 2.57 13.01
11 100kN/m%EBZ5 | 1.00| 000 ~ 003 10039 |3mEEZS -~ - - -] 100kN/mZ#8z% | 1.00 | 10.73 ~ 1080| 100.39 |3mZE#Bz5 -~
s 1.00 | 0.03 ~ 781 100.00 | #nllst | 000 ~ 781 | 2.29 11.58 st 1.00 | 6.00 ~ 10.73 100.00 | =hst | 6.00 ~ 1080 2.29 11.58
12 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -] 100kN/m%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 4.44 55.35 | =nWS | 000 ~ 444 1.94 982 st 1.00 | 6.00 ~ 5.00 55.35 | =S | 5.00 ~ 65.00| 1.94 9.82
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ ZhnLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ ZhnLst ~
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